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1. Introduction

During the discussion about the alignment conditional statements in the current specifications with the definition described in CR on TR25.921, it was pointed out that the definition of the abnormal and unsuccessful operation is unclear. And several unsuccessful operations should be moved to the abnormal chapter. The purpose of this document is to clarify the boundary of each operation before re-arrangement of the text.
2. Discussion

There are three operations in the current specifications. They are successful, unsuccessful and abnormal operations. The boundary of each operation can be defined as follows.

Successful operation

- The procedure is complete without error.

- A node intentionally prevents an ongoing procedure and initiates a new procedure, e.g.

· If the UNBLOCK RESOURCE INDICATION message is received by the CRNC while a Block Resource procedure on the same logical resources is in progress, the CRNC shall cancel the Block Resource procedure and proceed with the Unblock Resource procedure.
· If the Start of Audit Sequence IE in the AUDIT REQUEST message is set to “start of audit sequence” a new audit sequence is started, any ongoing audit sequence shall be aborted and the Node B shall provide (part of the) audit information.
Unsuccessful operation

- The necessary resources are not available.

- The state is incompatible between peer nodes, e.g.

· If the Node B receives the AUDIT REQUEST message with the Start of Audit Sequence IE set to ”not start of audit sequence” and there is no ongoing audit sequence, the Node B shall send the AUDIT FAILURE message with the appropriate cause value.
· If the state of the cell already is Enabled or Disabled [6] when the CELL SETUP REQUEST message is received in Node B, it shall reject the configuration of the cell and all channels in the CELL SETUP REQUEST message with the Cause IE set to "Message not compatible with receiver state".
Abnormal operation

- Error occur due to a received IE that does not follow the specification. The error is caused by the sender, e.g.
· If the Common Measurement Type received in the Common Measurement Type IE is not defined in ref. [4] or [5] to be measured on the Common Measurement Object Type received in the Common Measurement Object Type IE in the COMMON MEASUREMENT INITIATION REQUEST message the Node B shall regard the Common Measurement Initiation procedure as failed.
3. Conclusion and Proposal

 This documents proposes a boundary of each operation. After there is an agreement, CRs should be provided to re-arrange the current procedure text.

